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HISTORY
( Major )
Paper 5.5
[ History of Great Britain (1485-1820) ]
Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions in one word
or in one sentence each : 1x7=7

IR orpTeg 2fetm ©ed bl *=7 37 <6t qre il «

(a) What was the most important
significance of the Battle of Bosworth
(1485)?
TPILT Jad (S8va) DRSS AHENT ST
5 et 2 :

(b) Who was Sir Thomas More?
R4 Q=6 ' @ M ?

() What is the theory of Divine Right of
Kingship?
e FrEem SR 49 2

(d) What was the Petition of Right (1628)?
SR e (soxv) & wnfde ¢
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(2) | (3)

(e) How did the First Civil War (1642-46) 3. Write short notes on any three of the

come to an end? following : 5x3=15
U 7 (Sv83-8%) R ey Cafeet 2 ' SafRe R e bR e9e 5y Gt fora

() In which year were William and Mary (@) Religious Policy of Henry VIII
proclaimed king and queen as joint BN (AT 4N A
sovereign by the Convention? (b) Downfall of the Puritan Government
FACSDE P b0 TIFEM W @RI 3o efRoM PeeRa o
BaLE W fRB1Cet et a2 (c) The Long Parliament

(9) Who invented powerloom in 17157 ] 7EW
>33¢ BT ARRE 1w ToIae Fifke 2 (d) James 1II

2. Answer the following questions in brief 2x4=8 e (o o 3

e 2rpryeg S ey fi - (e) Achievements of William Pitt

(a) W¥1at were the Acts passed by Queen i
Elizabeth in 1559 to bring about a 4. Answer any three of the following questions :
settlement with the Church? 10x3=30
I SRS, S — i g i @ FSRBR T fian -
)ctc‘tb DoT® 2120 31 e 731 s wifee 9 (@) The accession of Henry VII is generally

(b) Write two causes of downfall of taken as the dividing line between
Commonwealth. medieval and modern times. Explain.
I A T4 751 i<t | e (@R PIRRP SIICAIRIE MRS e

() What i o e T AR @
e were the main causes of conflict =7 | N 90

etween J : .
gasioie ames [ and Parliament? (b) Discuss critically various phases of the
SIF AR e @Al TR 24 foreign policy of Queen Elizabeth. To

W‘”‘Rﬁ‘W? what extent did she succeed in

(d) Write about the circumstances leading to combating the Counter-Reformation?
the union of England with Ireland (1800). B i A & | F R 5 B
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(4)

{c) “The Restoration was not only the

restoration of the old monarchy, it is
also meant the bringing back of the
Parliament and before long, it is meant
the bringing back of the old Church:”
Elucidate this statement with reference
to the period of 1660-1688.
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T E, R SR o @ o o
SSOR SN iR, 2 M
A8 THRRA 1” s vvo-Subb BT TRCBRE
fefe @ Tttt g a1 |

(d) Why did England participate in the War
of the Spanish Succession? How did the

< Treaty of Utrecht (1713) make England
the strongest European power?
>R Teafi 30 xes R wfivw cafe o
WESA W (sase) RMA 29T SR
SIOIRSLF et 718 fapreet o Shifee 2

fe) “George 1 was the first constitutional
king of England.” Do you agree with the
statement?
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(i Why did the Industrial Revolution begin
in England? What were its economic and
social consequences?
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